TUFS
Teaching Note

Synopsis

This case describes how the development and implementation of a major IT project went horribly “off the rails”. Despite uncertainties regarding scope, deliverables, and strategic alignment, the project launches but soon deteriorates as the partnership between IT and the business falters. Now, well over budget and still without any sign of benefits (imminent or otherwise), the CFO is faced with a decision – to continue with the project or abandon it.  
Key Issues

1. In this case, there are clear differences of how IT value is perceived. IT thought it was bringing the project in on time and on budget; the underwriters wanted an improved system but no process changes; the CFO wanted cost savings; and other executives wanted improved business capabilities.

2. The entire organization expected that technology could simply be plugged in to deliver value, without any recognition of the work the business would have to do. The business completely abdicated its role in this project, both at a senior level and at a practitioner level. Therefore, it is not surprising that it got an “IT view of the world”.
3. There is no clear link to business strategy; this project was very unclear about its value and its objectives. There doesn’t appear to have been a priorization process or any oversight (governance) over the project’s general development. 
4. There were no apparent stage gates where the benefits and the costs could be reassessed.
5. No success metrics were established up front and business executives and functional managers had no “skin in the game”; their success metrics were not linked in any way to the success or effectiveness of this project.
6. All parts of the business, the CFO and the underwriters, have a negative perception of IT -- that the project is costing too much, didn’t deliver the right things; didn’t do things right and hasn’t added value.
Teaching Strategy

This case takes a “horizontal” slice through a number of coexistent issues (see Appendix A for a more detailed discussion of these). As a result, the challenge is “knowing where to start” – just as it is in real organizations – and this requires detective work. 
Setting the Context
The IT function cannot deliver benefits by themselves. What is required is a successful partnership between IT and the business. Typically, IT takes ownership of the technology and the business takes ownership of the transformation (e.g., required process changes). To highlight the critical need for this partnership, it is fun to play a “finger pointing” game. 
To do this, divide the class in two and make one half assume the role of IT and the other half assume the role of the business. Now ask them to take turns “blaming” the other side of the class for the dilemma that IT finds itself in at Northern. When blaming the other side, make them cite specific evidence from the case to support their accusation. That is, don’t let them simply say that the other side “screwed up”. You can record these accusations on the front board. Students tend to really engage in this activity. You will be surprised by how many items you can get down. Don’t spend more than 5-10 minutes on this as this creates a lot of energy and involvement and you want to contain it. What has just become obvious to the class through this exercise is the fact that BOTH sides are to blame. This exercise tackles the first discussion question (i.e., what went wrong with TUFS investment?) but it accomplishes it in a much more engaging manner than simply asking the students to tell you what went wrong.
Outlining Responsibilities within the Partnership

With the blame equally distributed (as evidenced by having two long lists of blame on the front board), you can ask the class to suggest what “should have been done” by IT and the business at Northern. In addition to identifying the necessary tasks, ask the class to assign responsibility for each task.  The list of accusations, if done well, typically contains most of these tasks.  For instance, if the underwriters are blamed for not taking the time to bring the IT developers up to speed on system requirements, then this activity would be identified and responsibility can be assigned. This typically leads into some good discussion around who owns which task and often leads to a sharing of responsibility – again leading to the conclusion that an effective partnership is required to produce realizable benefits. This exercise also addresses the second part of the first discussion question (i.e., what can be done to prevent these problems in the future?).
At this point, I would ask the class if they found the “celebratory picture” on Drysdale’s desk odd. What does the picture suggest about the “partnership” at Northern? Why did IT celebrate the delivery of a system with reduced functionality? Why were the underwriters not included in the celebration? Is this not a “win-lose” situation (i.e., IT wins and the business loses). Given that both members of the partnership work for the same company, would you not want the possible outcomes for the partnership to be limited to a “win-win” or a “lose-lose”? How would you do this? While exploring this issue, why is Drysdale the one that the CFO hauls into her office to explain the status of TUFS? What does this suggest? 
Looking Back

At this point in the class, it is appropriate to ask the class to “look back”. The question is “in hindsight, should Northern have invested in TUFS”? The responses may surprise you. Typically, the class breaks into equal parts – one half suggesting that Northern was right to invest and the other saying that the decision to invest was ill-advised. Whichever side they take is immaterial but be sure to push the class to defend their answer. Typically they make statements like:

· Northern was correct to invest in TUFS because it promised to bring efficiency to the underwriting process and new opportunities for top line growth.
· Northern was mistaken to invest in TUFS because senior underwriting managers didn’t really appear to want to change what they were currently doing. 
What is interesting is that, even with hindsight, it is difficult to argue that Northern should have (or not have) invested in TUFS. It is important to impress upon the class that simply installing a new system does not produce benefits. Benefits are produced by making appropriate changes to the work processes to capitalize on the capabilities of the technology; that is, “engineering the benefits” from an IT project. Other common frameworks can be appropriately introduced here; for example, the “people, process, technology” framework. 
Discussion Questions

What went wrong with the TUFS investment and what can be done to prevent these problems in the future? While TUFS was supposed to streamline the underwriting process and deliver new online capabilities, it was developed by IT with little or no input from the business. As a result, the system reflects only IT’s vision of this functionality. The business therefore must bear responsibility for not participating in the development of this project, which would have given them input into what was being done, insight into the assumptions that were being made and the opportunity to change what was being done if it didn’t fit the business’ needs. Furthermore, there appears to have been no formal project governance process managed by the business. Therefore, when IT needed to cut functionality in order to meet its time and cost objectives, it merely informed the business of what it was doing. There was no assessment as to what impact this would have on what was delivered in the end. IT and the business also had different measures of success. For IT, it was to deliver the project on time and on budget, even if this meant cutting functionality. For the CFO, it meant delivering cost savings. For the underwriters it meant having a system that was accurate and capable of delivering at least as much functionality as the old one. For other executives, it meant delivering new online capabilities. There was clearly a misalignment of value goals and business objectives in this project. Furthermore, no one in the business was held accountable for the results of this project. Therefore, they were unwilling to commit the resources and make the effort to ensure it delivered on its objectives. IT is responsible for not including training and help in its project plans.
In the future, all IT projects should have a business sponsor and a business steering committee, which would establish and monitor the benefits of the project as well as IT’s deliverables. Major changes in functionality should lead to a reassessment of the benefits to be delivered. All participants – both business and IT – should be measured on these benefits. As well, no IT project should be undertaken without expert business resources participating, ideally fulltime. Finally, no IT initiative should be implemented without a value realization phase, where efforts are made to train staff in new procedures, fix problems and re-design business processes to complement the new system. Major errors need to be addressed as part of this phase through root cause analysis to prevent negative perceptions developing.
What does Northern need to do to realize the benefits that were projected for TUFS? It needs to do a thorough assessment of the problems being experienced with TUFS. This should be done by a joint IT-business team and should address the root causes of the problems being experienced. The joint team should then determine what business process changes and what system changes will be needed in order to achieve the project’s functional objectives. This team will also determine what benefits should be achieved with the revised project, including cost savings and new capabilities on which further functionality could be built. The completed costs and benefits should be presented to a TUFS steering committee, consisting of the CFO, the CIO, and the relevant business executives. Together, they need to agree on what needs to be done. The entire business-IT team should then be held accountable for delivering on this plan – both costs and benefits. 
How can they measure these benefits? All of the benefits of the new system should be identified, not simply cost savings. These could include: new growth possibilities for the organization and new foundational capabilities on which future development will be possible. Improved information, and other business benefits, should be articulated and then quantified as much as possible. Ideally, a scorecard should be developed and delivery of these benefits should be monitored. Where the benefits change significantly, they must be presented to the TUFS steering committee. 
Appendix A
Issues Discussion

Chapter 1: Developing and Delivering on the IT Value Proposition. In this case, there are clear differences of how IT value is perceived:

· IT thought the value was bringing the project in on time and on budget, even if some of the functionality had to be deferred.
· The underwriters wanted an accurate system and improved functionality. They did not expect processes to have to change.

· The CFO expects cost savings in the underwriting department, i.e., reduced headcount
· Some executives (it’s not clear who) wanted e-business opportunities to attract more business. These are taking time to deliver. Executives feel that they’ve been lured into spending money on this when it clearly wasn’t essential to their business strategy. Even though the value of this component declined over time, no one took another look at this part of the project.
· The entire organization expected that technology could be plugged in and deliver value, without any recognition of the work the business would have to do. Here IT and the business didn’t work together to deliver value.

· Even though this project was delivered on time and on budget, TUFs lacked a number of components that would ensure its success: business resources to participate in its development and implementation; no training or help desk support for the new functionality; no recognition of the need for change management or changed business processes.

· While efforts were made to correct problems, there was no value realization phase. Users experience significant frustration and resistance has developed as a result. Root cause analysis of the source of these problems appears to be missing.
Chapter 2: Developing IT Strategy for Business Value

· There is no clear link to business strategy; this project was very unclear about its value and its objectives. There doesn’t appear to have been a priorization process or any oversight (governance) over the project’s general development. 
· Business strategy changed over the life of the project but the project was not reassessed

· The benefits were not reassessed when the functionality was cut

· The project was extremely large, would have benefited by being “chunked”; this would have made it easier to better manage what was being done and some of the problems that arose.
· There were no apparent stage gates where the benefits and the costs could be reassessed.
· Although the project contained both revenue-generating and cost savings opportunities, only the cost savings appear to be important now. When and how did the business strategy change and why was it not reflected earlier in the project’s requirements and plan?
· The business completely abdicated its role in this project, both at a senior level and at a practitioner level. Therefore, it is not surprising that it got an “IT view of the world”.
Chapter 3: Linking IT to Business Metrics

· No success metrics were established up front.
· Business executives and functional managers had no “skin in the game”; their success metrics were not link in any way to the success or effectiveness of this project.
· The only metrics that management is looking at is cost savings and increasing investment.
· The primary IT metric was delivery on time and on budget. This led it to overlook aspects of this project that would make it more effective for the business. Thus, it cut functionality in order to meet these project goals.
· IT appears to have no clear understanding about how the gaps in functionality and the errors are affecting the business.
Chapter 4: Managing Perceptions of IT
· All parts of the business, the CFO and the underwriters, have a negative perception of IT. This is largely driven by the errors in the TUFS project and the lack of training and help provided.
· Drysdale is frustrated that neither group sees the good things about the system and are resisting using it.
· Nothing is mentioned about the e-business component of this project. It may be meeting the enterprise’s needs for top-line growth but all the focus is on the problems of the system. 
· There is a perception that the project is costing too much, didn’t deliver the right things; didn’t do things right and hasn’t added value.
· In this case IT is failing at a competency level because TUFS is not meeting basic underwriting needs.
· While the project also implemented a strategic goal and was able to manage the project on time and on budget, these mean nothing because of the challenges meeting these level 1 needs.
Appendix B
Organization Chart
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